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Generic MC - J/psi true events

Generic Jipsi: iy (15) M- {Charged ! Candidate Region)

200 FnSig = 559 +/- 24

180

160

L
=
=]

Evenisi{0
(==
=]

£ O
=2 )

0036
o
(=]

=
(=]
TT T[T I [ TT T[T I [ TT T[T T T [TT T [TTT[TTT[TT

W
=7

Generic MC

Generic MC: Jiy(15) an {Charged / Candidale Region)

|
++

B7 308 309 5.1
M- [GeVic?)

v

31

[nBkg1= 1785 +/- 43
250-nBkg2 = 22 +/-8 +
-nSig = 555 +/- 24 +
200
2 E
(=]
g [
as0-
E -
§ [ .
dioo %
50~ § % t
clmu kel a el s linuling
DoE506 7307 308 300 50, BT 312 315 314
M. GeVic’]

B* — J/y(1S)K* — ppK*

200 __I‘\S'g = 559 +/- 24

180

1

4

250 NBkg2 = 128 +/- 16

200

0036

=]

Events / {

Generic Jipsi: Jiy(15) L {Charged | Candidate Region)

60

40

=
(=]
TTT T T T [TT T[T T T [TT T[T T T [TTT[TTT[TTT[TT
T I T I I I I I I

W
=7

B7 308 309 5.1 311
M, [GeVic?)

Generic MC: Jiy(15) an {Charged ! Candidate Region)

[nBkg1l = 1668 +/- 41

nSig = 566 +/- 26

50

50

it
1

rannelaeeidce g

1 312 313 314

Fascrt1sssebtigaen
955 506 307 308

b
09 31 3.

Parameters fixed
% stream 10 (sign¥l input =

stream 10 (signal input =

559)

Generic Jipsi: JIy(15) Mw {Charged ! Candidale Region)

FnSig = 559 +/- 24

200

180

160

250

50

=)
=

B7 308 309 31,
M [GeVic?)

570)

Generic MC: Jiy(15) an {Charged ! Candidate Region)

FnBkgt = 1801 +/-43
FnBkg2 = 6 +/-7
nSig = 555 +/- 24

T T T 1T | .| T I T 1T 11 I T 1T 11 | T T
*Is-

o
f ",
sl ks qend oo Lo doo T Lo Ly

£05 306 3.07 3.08 309 31

311 312 313 314

M _[GeVicY]
B



20170413

B* — J/w(1S)K* — pBK* -
Signal MC - J/psi true events (signal input = 32240)

Signal MC: Jiy(15) an {Charged | Candidate Region) Signal MC: Jiy(15) an {Charged / Candidate Region) Signal MC: Jiy {15} an {Charged | Candidate Region)

M _[GeVicY]
B

FnSig = 32240 +/- 180 Lm 12000nSig = 32240 +/- 180 1o000lLNS10 = 32240 +f-1au|
10000f~ - B -
B [ | H
r e 10000 Y
80001 C L
el aal [
2 anr 00}
o - Q = o
(=1 L=} — (=] -
00— =l s [
3 L T oo
§ F E r g [
dboo— a o r 4k Hy
L 4000 4000
2000~ 2000 2000(
95 308 309 31 311 312 3 14 IR 0 200 31,311 312 3. 14 IR EE" 302 309 51,311 312 14
M _[GeVic] M _[GeVic) M _[GeVicT]
B PR B
. Parameters fixed
Generic MC % stream 10 (sign¥l input = 570)
Generic MC: Jiy(15) an {Charged ! Candidale Region) Generic MC: Jiy(15) an {Charged ! Candidate Region) Generic MC: Jiy(15) an {Charged ! Candidate Region)
LnBkg1 = 1802 +/- 61 FnBkg1 = 1786 +/- 43 [nBkg1 = 1802 +/-43
250/ -nBkg2 = 19 +/- 91 + 250 NBkG2 = 14 +-10 250:n3k92= 14 +/- 14
LnSig = 541 +/- 18 + [nSig = 562 +/- 26 nSig = 546 +/- 27
20 s : -
2 L 2 r i 2 r
o [ o G o
=] L= r g =
501 501 i Ss01-
3 f Pl P [
8 [ : 5 [ : §
oo § dioof : £ ool
e = FE r iZ
/Y H p 0]~ o b
el e S i e e e e i it et el e Bl haus
05306307 T08 309 31 31 312 313 314 Jo5™308 507 308 'g.oe 31,7311 312 313 314 D05 5067307 308 309 51, 311 312 313 314
7

Gevie’] M _[GeVicY]
B B



20170413

Jiy(18)

Data
100

Signal MC Smear_trk =0

| [ |-,||-|‘_-.'L| Lo hl
827521 5.22 523 5.24 525 526 5.27 5.28 5.29 5.3
M, [GeVie?]
Jiy(18)
i Data
1001
Signal MC Smear_trk = 2
80—
80—
40—
20—
] :
| | - . 'L' I I
82521 522 525 524 525 526 52? 5.28 5.29 5.3

.. [GeVic?]

Track Smearing

Jiy(1S)
100

Data
a0

Signal MC Smear_trk = 0
80

70
60
50
40
30

20

E . 11 1 - i hy Oty B F
4005 0 005 04 045 02 025 03
A E[GeV]

Jiy(18)
100

Data
a0

Signal MC Smear_trk = 2
80

70
60
50
40
30
20

10

il s o T P T AT | AR S P TP g
HJ.‘I 005 0 005 01 015 02 '025 G.S
A E[GeV]

0.00477+0.00020

Jhy(18) Real data
- Signal MC 0.00400+0.00016
B 7]
- —data _ 1.19
sof
40F
30
201
10
H ' 1
£05 306 3.07 308 309 51 341 312 313 3.4
M,, [GeVic’]
JIy(1S) Rc.aal data 0.00477+0.00020
o Signal MC 0.00470+0.00018
7]
data =1.01
oOMc
50

40

30

20

by L e g kb el et S
Los 305 307 3.08 309 31 3.1 312 3.13 3.14

M., [GeVie?]



20170413

B* — J/y(1S)K* — ppK*
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psi(2S) with track smearing
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